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The picture shows a wave on a string at some time t=0. Which of the following
represents the displacement of the string as a function of position at t=07?

A) 4mm - cos(x / 1m)
B) 4mm - cos(1m - x)
C) 4mm - cos(2m/ 1m - x)
D) 4mm - cos(Im /2 1t - X)
E) 4mm - cos(x - 1m)
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The picture shows a wave on a string at some time t=0. Which of the following
represents the displacement of the string as a function of position at t=0?

A) 4mm -
B) 4mm -

Admm

D) 4mm -
E) 4mm -
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At t=0, the displacement as a function of position
for the wave shown is

D(x) =4mm - cos(2mt/ 1m - x)
At t=3s, the wave has moved to the right, as
shown in the second graph. The displacement as a
function of position is now
A) D(x) =4mm - cos(2rnt/ 1m - x — 3s)
B) D(x) =4mm - cos(2m/ 1m - x + 3s)
C) D(x) =4mm - cos(2n/ 1m - x—1/2)

D) D(x) =4mm - cos(2m/ 1m - x + t/2)

E) D(x) =4mm - cos(2rt/ 1m - x + 2m/3s)
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At t=0, the displacement as a function of position
for the wave shown is

D(x) =4mm - cos(2mt/ 1m - x)

03 1 s » X .
: At t=3s, the wave has moved to the right, as
shown in the second graph. The displacement as a
function of position is now

_ o e ,-;3‘,\.\, A) D(x) = 4mm - cos(2mt/ 1m - x — 3s)
7\ B) D(x) = 4mm - cos(2rt/ 1m - x + 3s)
2 ! : X(Cﬁo =4mm - cos(2n/ 1m - x—1/2) D
\/ . \/ D) D(x) = 4mm - cos(2rt / 1m - x + 11/2)
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Which of the following represents the
displacement of the wave shown as a
function of position

N D= Acos (B x -

B)D = Acos (%’Lx - ns-f\
AOD= Acos (T* - IZs 1)
D) D= Aaws (E-x - 122.4)
E) D= Aces (Fox - T-1)
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Baby Shark is floating at the surface of the water as waves pass by. At what time
will Baby Shark next reach a maximum height?

A) 0.17s B) 1.5s B) 3s D) 6s E) 12s



Baby Shark is floating at the surface of the water as waves pass by. At what time
will Baby Shark next reach a maximum height?

A) 0.17s B) 1.5s B) 3s D) 6s E) 12s
Beby Shark will be &l wax height again when wave moves dighmce
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Whic}b graph represents the duck’s vertical displacement as a function of time?

A) R) 1
0 >4 ) o\//"l
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@ic}b graph represents the duck’s vertical displacement as a function of time?
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Duck Baby Shark



N=3m

Discussion question: what will be Baby Shark’s maximum vertical velocity?



N=3m

Discussion question: what will be Baby Shark’s maximum vertical velocity?
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